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Vertical Division with a Helper Grid Name:
Solve each problem. Answers
1) 2) 3)
1.
35[8956 3[5229 7[70
2.
3.
4.
5.
6.
) 5) 6) "
7|77 62/8928 4(862 8
9.
7) 8) 9
81527 397254 52923
1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 255131 2 1743 3 10
55956 s[5229 /7o . 255r31
0 3 7 5 1743
89 22 00
70 21 0 3 10
195 12 0 . 1
175 12
206 09 5 144
175 9
31 0 6. 21512
7. 65r7
9 11 5) 144 6 2152
7177 62[8928 4[862 s 186
7 0 8
07 89 06 0. 08413
7 62 4
0 272 22
248 20
248 2
248
)
7) 65r7 8) 186 9) 584r3
8[527 39[7254 52923
0 0 0
52 72 29
48 39 25
47 335 42
40 312 40
7 234 23
234 20
) 3
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1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with a Helper Grid Name:
Solve each problem. Answers
65 r7 10 1743
11 215712 186 1
144 584 r3 255 r31
1) 2) 3) z
35[8956 35229 7|70 3
4,
5.
6.
7.
8.
4) 5) 6)
7|77 62[8928 4[862 0.
7) 8) 9)
8527 39|7254 52923
M odified 1-9 |89[78]|67[56|44[33|22[11] 0 |
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